GORD K5I, AB=AC=3cm, /BAC = 90° DEH
TENEAEASH D, M AB FIC AD=1cm £ % B 5HE

Ab= At - D
Ne=AB @&

O APLEA NLBT AETY

%Y %, %7, CD DEE Y BE L DXAEF L35, .
CDEE, XD (1)~B)ICBEZZIL,
(1) BE DEX ZR$DEE L,
B

(2) ABDF co ACDA Th %, DT &AL K

T,

%vl«)

(3) ABEF DEEZRDETV, &, BHDOFER

EELCTE,

CaIm
t '@ BT ool A
B ok i R
A
a4 REzJ©O i
C

’ ABDE DA BEA

LDT_ BET \ITL} (AN - \(:%:)
.07 3 yTo- TN T Enal
ABeCz APEB
I, ppPoz ABE = £ FBD G

NS

A BDReACH Plehul
:"?/ZUEJ\]
£ BpTi=LChh B
@J\Z fpp = ACD ~@
® .4 79 2889 Ao FaTdN |
Zwmal & BF 0ACPA

7 LU
")
2N b
NOr {3 a¢

€ XWX
o
5



